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30197631 flnut p rq unn dhtrruhutrr'irutt A4i"N*qb trcuz urnulr 2500 425000 L70

30t97232 flR Bruul rubu! urpruquUup A4 Qryri**h- treuz hruur 70 11900 L70

39263200 Qnuruhtrtrub uthtr qhpp trcuz hrurn 500 5000 10

30199s00 flR Bruul ruhrl! nhqfruupuunF trcuz hruur 1300 14300 tt
30L9723t fdnBruulrutnlh Srutt trcuz tnnr-lh L200 35000 30

30L97230 fln Bruut rutrub uhn ilrul] n{ trcuz hruur 700 7000 10

30t97LL2 gurnh>h uruhrl ilhphL trCUZ tnnLrh L20 4200 35

30L971.Lt gurnh>h uruhq rlrnpp trcuz rrrnLlh 1_00 3000 30

30t97220 UhnriurL rhnpp trcuz hruut 30 1500 50

30t97220 Urinrub BnBh trcuz rnntth. 200 6400 32

30t97320 qrunhllrh 1 I 20-30 lphnp \ ruphpt hruriqp trcuz hunn 700 2L00 3

30t97320 grunhltrhn/3 0-50/phpp \ ruphpt hulriurp trcuz hrurn 900 L800 2

30t92t2L $nhr qhnhhudnn trcuz hruur 100 17000 L70

30198114 C rnu riu h/b trhp /prl tnuP trCUZ hrurn 250 1000 4

30L92tLt faur trur ph+ ur p Ahh trh p trcuz hruur 1400 5600 4

30L41200 Zurzrlh> rihphtrur, rihb trCUZ hrurn 3200 19200 6

30196331 Onurqnltq uhnurhh trcuz hurur 1000 3000 3

30192136 Uruurhurhhn trcuz hrurn 100 5000 50

30199430 fdnr.n B trzntiltrhnh, rnngru\ trhpnrl uu1. trcuz urnLth 800 4800 6

30L92L28 Qhrurhtr qnh) trcuz hrurn 280 2800 10

30199420 htrptrruhurynth pnqp trCUZ hruu 220 11000 50

30234300 'huururnb ubrurlurnru! CD trCUZ hurtn 100 9000 90

249Lt400 Unuhh& trcuz hruu 150 1500 10



30193700 fdR Brunurpur! hurnL hnnrl ru t ruur.nriuruh trCUZ hrurn 2500 12500 5

39292500 €ur trntr/ul 1 ruutnrfuruh/ trcu2 hunn 100 1000 10

30192100 llhurhtr huuurnurh trcuz hrurn 50 500 10

228tt180 Onucnhn h urtlhhonrur trrnrritrhnh urhurn trcuz huru 1,200 8400 7

30L92rL2 hhptrurhnu qph) trCUZ huru 50 2Q00 40
30199230 Onrun truniuhh II5x225 trcu2 hurur 20 2000 100

30t99232 Ofnlp A4 &huryurfifr hruritup trcuz hunn 50 2900 58

30234620 $thr hhunnnlplrutr 4GB trQUZ hrlur 2300 4600 2

30234620 $thz hhznqntBrutr 8GB trcuz hunn 4000 8000 2

3582L400 'Innu trcu2 hrurn 5000 10000 2

L hp 11 ry ugn ry2w Q w h twluu hp / 42 37 /
hn4{tut, ry4 ptlnut 200000

03222L28 uhpq trCUZ hq 3s0 10850 31

15863 100 |dhr rihurtrqurr.ilru o grnugnpbhl nr- trcuz rnmrh 500 2000 4

03131200 |dht 
-, trCUZ unrth. 550 4950 9

1_5851100 Unrpd /urlruqub/ trcuz hq 2550 38250 15

15861300 Unr-pd /tnr-brlnn/ trcuz tnmrh 1150 L1500 L0

L58421_00 Cn\ n1 ur4 /rnhrl urh urL/ trCUZ hq 2300 6900 3

15842100 Gn\n1 ur4 /rupururuuhriruht ruh/ trcuz Uc 2200 L7600 8

15842000 trnhpntrhnb ur /rnhn urh rutr/ trcuz hunn 1_500 1s000 1_0

15842000 trnl-rpnhhpb ru /urnurruuurhrld.rtrt ru tr/ trcu2 hunn 2200 15400 7

15321000 Upqurhlntp trcu2 hruur s50 16500 30
15911300 9nhturL /rnhnruhurh/ trcuz hurtn 6200 L2400 2

15911300 9nhturb /nhqurLurtr/ trcuz hunn 9500 19000 2

15911300 9ntrturb /urhnuLurtr/ trcuz hrurn 2550 17850 7

15981200 9ntp /curqur{nndurb/ 1r trcuz hrurn 250 5500 22

15981200 9nrp /qurqrurl nnrlurb/ 0. 5r trcuz huru 180 3600 20
15981110 9ntp ruulur!1u 22nrl trcuz hrurn 150 2700 18

Sputhuqnpnryrth fun Lphp /a264/ hn4{ut,
w14 p{nu[ 7200000

34330000 Ur] urnrlhphhrut h ru ruhhuunurftuuhn, nnhq 300000
34330000 3nqh bht urn 9nrrurtrhq ilutr.rurlurnp. hrurirun trCUZ huru 3000 3000 T

34330000 3nqh Shrun trcuz hruu 1000 1000 t
34351200 Utn] ur4nq hp, Vntprutrho trcu2 hunn 38s00 154000 4
34351200 Utnlru4n4hp trcuz hurur 30000 120000 4

092Lr4L0 @nlu ur tr griur tr urntrlrh t n.R, rihlu u trhb rub urtr trcuz L000 5000 5

092Lr4L0 3nr-q 9ntpurtrhg riur\. rurlrnnpnr-uh hrutfun trcuz 1000 10000 1.0

0921r4L0 Cupdfl|r lnr-q, 9nrputrhg ur{urnpnr-uh trCUZ 1400 7000 5

091_32200 trhhqhL nhgnrllrup trcu2 400 900000 2250
Vbhgut4 ufit h h p ryhp /4267 / 200000

39836000 u{hr trcu2 huru 1004 14056 t4
39221,130 trurdurbtrhn trnpn trQUZ rnnr- h. L200 L200 1

39221L30 Frudurbtrhn ilhb trcuz untrh. - 3000 3000 L

3922tL50 Unr-pdlr purdurbtrhn trcuz umLrh 2500 2500 L

337L1480 Odurn &hnph trcu2 hrur.n 183 3294 1_8

33761000 ftnr1 ntrn{ qnlqunultrh BnqB trcuz htuu L20 9600 80
33761000 L{ugph trriZh, d.hnpnrl I rlrutnurnt trcuz hruur 450 2250 5

39831245 ehnplr hh4nr\ odurn trcuz hruur 350 1,400 4
33141118 Utrd.hnnqhh >nn h hntrrurl /ilnhhurnnh trcuz hurur 700 7000 10
39831246 Uqu\fhhnh r rlrusriuh hhnnth trcu2 hurur 550 6600 12
39800000 Vuhnrlplr rh*tt hqilrutr rihp.tg trcu2 hrurn 480 t920 4
33141 118 Uhqluhli tu lrd,hnnqhL trhn trCUZ hrurn 1so 4500 30
39525100 @rZh ilrupphlnr 9tr9no trcuz huru 500 15000 30
19641000 q]"tthruht htnulfrtr ul ulnlt urrt ph hurilurn trcuz hruu 300 11400 38
3983t247 Urpnurhurtrnq hhqnr-ltr uurh. hurtrqnrtqh trcuz hrrru 250 5000 20



39839200 QngruBhurU urqpn hrurlrupht nt trcuz hunn 3s0 1_050 3

39831244 Qhnhnq nhurhhh trcuz hrurl 250 6500 26

39831210 Urftutrhhn t rl url nt hhR ntlt trQUZ hruu 550 3900 6

33761700 Unrhl tuunlnrn trCUZ hruur 2500 7500 3

3922434t Unpurnhnhn trcu2 hrurn 1500 3200 2

39831600 9nr-grunrutrh rirupntiruh trt nrBhn trcuz huru 800 4800 6

39811300 Qnrurhnhhl trcuz hrlur 5s0 ss00 10

3983t274 hh nurhh ilrupnriurtr trrntBhn trcuz hurr,n 1200 4800 4

3922433L 'Inr11 rq 1 ruuuniruuh /10t / trcuz hruur 550 2750 5

39224331 'Inr-11 q1 urutnriuruh /5t / trcuz hrrrrn 300 600 2

3122L280 ht. hnhrunruqdurtr turn 5d, 3 urtRurhnq trcu2 hruur 640 L280 2

39721500 9nr-p trcuz hurn 1800 63000 35

31684000 .{urnnurb trcuz hrurn 500 3000 6

32550000 Zhnurnnuh riurrnrlu trcuz ilhrnn 2000 2000 L

30t922L0
tlnfulhpru3 ]rtr ]rhpbu\q2nr-tr fiuqu{hh
a8ilrix1Od trcuz hruur 350 L400 4

30199740
ZututntQ hulutwwQufth funryhp /4269/

hnntlut
700000

44322500 Urutnttu 4x4 trcuz ilhurn 400 5000 15

30192 15 1 Ldurqunurtrh hntrp trcuz hrurn 15000 15000 1.

44110000 UhtnurRuql ruuurh tunnn*lurb 5-20 ild trcuz rihtnn 350 4900 t4
44t63t70 funnnrhuL $-25 tihurunllu trcuz rihurn L250 15250 13

44423220 9nh bnnruL, rhrubrutr trcuz hunn 32L5 9645 3

397L7r00 funnndurb $-20 rihurruRtru trcuz tihurp 900 11700 13

44tLL200 Lhntl trcuz bq 1600 8000 5

4452t120 'Inurtr rhurburt: trCUZ hruu 5500 11000 2

31510000 h. truriul trcuz hrrnn 100 6000 60

44322500 Urutnr-h trcu2 r.ihrnn L100 5500 5

42130000 9nh rhurhrutrhhn trcuz huu t200 6000 5

4 tu b w h ut h u w pp w {n pn u[h hp / 5 122 / 990000

30213300 2urdurhurnqhltrbn trcuz hrurn 330000 990000 3

Awnulatplnfihhp UUU 3 3000000

30200000 Zurilur! urp q)ult hh uurppru r.l . h trl n r-php I 4252 I trcuz 4nuril 300000

09t2r700 trtrurburtr q:uu.q l42t2l trcuz tu/il 3500 549500 L57

65310000 htrhnqhurhh burnurlntplnttr I 421,2 I trcuz b{u/d 4920 750500 153

64212000 trqqurhh trururh brunrulntplntl-r I 4214 / trcuz huur 1_50000 450000 3

64210000 5|rpu{rub bruulh brunurlntplmtr I 42t4/ trcuz hruu 105000 630000 6

72400000 <hlrurhntrhrn> hurqh qruhruurhmil I 42L4 I trcuz q/rB 1000 170000 t70
56510000 Uru ruhnrl urqnruh urtr burnrul nrBl nr-tr I 42L5 I trcuz nnruri 50000 150000 3

S h4 h 11 wu {u 8 u h 6utnw1ntp1afi /4234/, ut14

Tadnu[
250000

92410000 fdhnrahnh rrudurtrnnnru qnntBr nrtr trCUZ hurur 38000 190000 5

92420000 Zurt unununnrpt nrtrtrhnh hnruut runruh ntri trcuz rurlhu 5000 60000 t2

79634000 Uruuhru ghururb urtr burn u4ntBt nlhtrtn I 42 4 L I trcu2 4nuril 50000 50000 t

34110000

Spruhuulnpuurl|rh .iltf 
"gh 

d.hnp phpnril
/stztl CZ hurur 12000000 2

4 utp2ut 11 w h uwpput {npn t tlh hp / 5 1 2 2 / 990000

30213300 Zurilruhurnqhltrhn trQUZ hruur 330000 990000 3

425t2000 Urt rihphtlutrbp h uruppru{. o4nprutqbt /5t291 trCUZ hurur 400000 400000 1

50110000 U{ urnilhphtrutrhnh urh}u. q trtrnt',J. I 4823 I trcuz nnruri '50000 50000 t



CIt4h u ttn ry p ttn ryplz h w hp ryl tt
tunutTntplnilt

FutdJzlt 0l funr-rfp 3 4ruu 3

72s00000 Zur[urL urnqrrur htr burnrut nrBr nr-tr I 4232 / trCUZ rurlhu 2s000 300000 t2

trwdhh 01 funulp 5 4uru 1

72500000 ?rurlnu qnriurtr brunurlnr-p1 nr-tr trcuz unihu 110000 1.2

72500000 Utr zurnd gnr-lph gnur hqriuh brunru1nr-p 
1 
ntl: trCUZ rurihu 590000 t2

50110000 Url nrnrlhBhtrruhhnh urhlu. q trtr nttJ I 4823 I trCUZ 4nulri 200000 200000 I
98133 100 Lrl hnrurnrlntB. n; runhurnuthb L utq ri. I 481.9 / trCUZ unihu 100000 t2

trwdhh 0a funrilp 2 4uru 1

771.00000 Qt nr-1 . hnn hnnrurnrl ru b rutr brunru 1 
nr-p . I 423 5 / trCUZ rurihu 750000 12

.Fudhh 0s funtilp 1 4ruu 1

U4pwhw[tnn[
65000000 9nrinttrrut bunurt nr_Bt nr_htrhn trCUZ unlhu s0000 600000 L2

trudhh 06 funr-rfp 3 4ruu 1

45000000 Qn ru rlunniuL unrunriur h qulh qh ll runntqntrl trC 4nuril 3000000

Futdhtt06 funulp 4 4ruu 1

(Dnr1 ncrul]rh 1 nturur] npntplnr-h
6*purTtrlplniltlthp

45000000
cDnqn grul frtr 1nr-ururlnpntp}uh gru tr glr

\urnnrgnr-il trC 4nruil 5000000

653 10000 hr. ttrhnqhrurh ilurr.nruhurnunntri I 42121 trCUZ trrlrn/d 27500 1100000 40

Uqpuhphhp
ZuwntQ ft u1 utu w lt ry|, tt fun ryhp /4269/

hn4{ut, q4 p{nu[ 500000

3 153 1300 Struhunq tuniuhn trCUZ huur 2500 250000 L00

31531200 hr. rruriqhn trcuz rihurn 100 200000 2000

441,1,1,200 thrihhur trcuz tlq 50 50000 1000

Fwdfth 08 funr-rfp 2 4ruu 4

Utt ilzurb nr-pur1lrh bruq rtruh hprq ntplnth
AwtnntQ [tu1 ututu\ *fi t ttlnryhp /4269/

, hn4{utt, wn rtdnt[
500000

03121210 Orun hL, burn h hrhtrghn, bu,.r ll hru uuL trhn trcuz nnuril 200000

39298400 Znr-rrutril hntrhn, ruriruhnu ur rnnq DruL hhn trCUZ nnu1il 300000

Ch4hu hn ry pttn ryp/z w1 1 twn w1n ry1n ilt h hp

/4239/, tu74 p{nu[ 300000

7995 1 1 10 9urhuihq rihqulq qurhtr onrlruh Lrl hnrl ub trQUZ nnud 50000

7995 1 1 10 LIhb ZurrnhLurbrutr u1ururhpruqil Ldhnd. ilhp. trcuz nnuil 50000

79951110 Urirutrnn h Unrnp Otrnrtrn FCU2 nnruri 200000
.:l /

uorlF hnrilur3trp]r gfrhurhrluur\rutr purdhfr ulhur "{/"td9. Upnrlurh
Qhnr-tihhpfr huilur\-Fqoq' *(tt{ Int}rqru U{urqprtr


